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Number series Questions for Bank Clerk Pre & RRB Exams.   

Number series Quiz 12 
Directions: Find the missing element in the given series: 

1.  82224     9128     1134     156     ?     0.2 

A. 25   B. 32   C. 31   D. 21   E. None of these 
 
 

2.   441     428     407     370     ?     168 

A. 365   B. 348   C. 301   D. 285   E. None of these 
 
 

3.  4     ?     8     27     104     525   

A. 6   B. 5   C. 7   D. 5.5   E. None of these 
 
 

4.  31     34     97     132     ?     742 

A. 741   B. 712   C. 665   D. 643   E. 598 
 
 

5.  24     48     120     168     288     ? 

A. 359   B. 315   C. 404   D. 440   E. None of these 
 
 

6.  15    34    ?    148    300    604 

A. 69   B. 82   C. 93   D. 72   E. 75 
 
 

7.  40    172    354    ?    900    1280 

A. 608   B. 457   C. 705   D. 573   E. 594 
 
 

8.  13    24    ?    80    144    256 

A. 45   B. 62   C. 54   D. 44   E. 39 
 
 

9.  23    46    138    ?    2760    16560 

A. 552   B. 605   C. 543   D. 472   E. 398 

10. 1    2    3    11    15    ?    51 

A. 47   B. 42   C. 35   D. 22   E. 49 



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

D C B D E D E D A B 
  

Explanations: 
1.   
Series Pattern     Given Series    

82224 82224   
82224 ÷ 9 – 8 9128   
9128 ÷ 8 – 7 1134   
1134 ÷ 7 – 6 156   

156 ÷ 6 – 5 21 ✓ 

21 ÷ 5 – 4 0.2   
 
Hence, option D is correct. 
 
 
2.    

Series I :  441   428   407   370   ?   168 

Series II :    –13    –21    –37    ?   ?   

Series III :     8   16   32   ?      

Series IV         ×2   ×2   ×2       

 
Clearly, the pattern in series IV is multiplication of 2. 
So, the missing term in series III = 32 × 2 = 64 
∴  missing term in series II = – 37 – 32 = – 69, – 69 – 64 = – 133 
∴  missing term in series I = 370 – 69 = 301 
  
Series I :  441   428   407   370   301   168 

Series II :    –13    –21    –37    –69   –133   
Series III :     8   16   32   64      
Series IV         ×2   ×2   ×2       

 
Hence, option C is correct. 

  

 
 

3.   
 Series Pattern     Given Series    

4 4   

4 × 1 + 1 5 ✓ 
5 × 2 – 2 8   
8 × 3 + 3 27   

27 × 4 – 4 104   
104 × 5 + 5 525   

 
Hence, option B is correct. 
 



 

 

 

4.  

 Series Pattern     Given Series    
31 31   

31 +22 – 1 34   
34 + 43 – 1 97   
97 + 62 – 1 132   

132 + 83 – 1 643 ✓ 
643 + 102 – 1 742   

 
Hence, option D is correct. 
 
 

5.   
 Series Pattern     Given Series    

52 – 1 24   
72 – 1 48   

112 – 1 120   
132 – 1 168   
172 – 1 288   
192 – 1 360 ✓ 

 
Hence, option E is correct. 
 
 
6.   

Series Pattern   Given Series   
15 15   

15 × 2 + 4 = 34 34   
34 × 2 + 4 = 72 72 ✓ 

72 × 2 + 4 = 148 148   
148 × 2 + 4 = 300 300   
300 × 2 + 4 = 604 604   
 
Hence, option (D) is correct. 

 
 

7.  
Series Pattern Given Series   

40 40   
40 + 112 + 11 =  172 172   

172 + 132 + 13 = 354  354   

354 + 152 + 15 = 594 594 ✓ 
594 + 172 + 17 = 900 900   

900 + 192 + 19 = 1280 1280   
 
Hence, option (E) is correct. 
 
 

  



 

 

8.  

Series Pattern    Given Series   
13 13   

13 × 2 – 21 =  24 24   

24 × 2 – 22 = 44  44 ✓ 
44 × 2 – 23 = 80 80   

80 × 2 – 24 = 144 144   
144 × 2 – 25 = 256 256   
 
Hence, option (D) is correct. 

 
 

9.  

Series Pattern    Given Series   
23 23   

23 × 2 = 46 46   
46 × 3 = 138  138   

138 × 4 = 552 552 ✓ 
552 × 5 = 2760 2760   

2760 × 6 = 16560 16560   
 
Hence, option (A) is correct. 
 
 

10.  

Series Pattern     Given Series   

1 1   

1 + 13 = 2  2   

2 + 12 = 3 3   

3 + 23 = 11 11   

11 + 22 = 15  15   

15 + 33 = 42 42 ✓ 

42 + 32 = 51 51   

 
Hence, option (B) is correct. 
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